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B stg X 23] $22233 $20.311  $22.022 $22.243  $20.300
AR U DE R

= mol £ x (10,233 ) (10,311 ) (10,222 ) (10,243 ) (10,300 )
R S X $12,000 $10,000  $12,000 $12.000 $10.000
22y w3
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D5 A B

xH[2] 1 1 1 B 1
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B stg X 23] $53,406 $45411  $53,405 $53.407 $45.416
AR QU DE T}

s 23 XN (22,406 ) (22,411 ) (22,405 ) (22,407 ) (22,416 )
R s X $31,000 $23,000 $31,000 $31,000 $23,000
29 A

g3 20/ $2,409  $2,074 $1,101 $1,308  $962
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1.980.388.6780
XLIE 28 (Jonathan Blum) (DI AES)

1.212.449.3112

DIDNS =N
Mzl SE2A3(Jerry Dubrowski)
1.980.388.2840

jerome.f.dubrowski@bankofamerica.com
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